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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 58618061
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 586180995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given words on one side of : : and one word is given on another side of : :
while another word is to be found from the given alternatives, having the same relation with the word as the words of
the given pair.

Choose the correct alternative.

Singers: Chorus : : Riders: ?

Options:
1. ®= Herd
7 % Group

3. % Bunch

4. « Cavalcade

Question Number : 1 Question Id : 586180995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

L % T AR T oY weet & da ve faf¥aa wew g, 3 & gEd 3R ve o= femn &, wefe
few a1v Soreal H ¥ 3o e TWIAT ¢ ToIHeT 37 A ¥ I8 o9 & 3 U 71T F12 & g & &=
gl

wer Rreed T+
Tk : HHgeNoA © : HaX @ ?
Options:

1, =« @8



Question Number : 2 Question Id : 586180996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given numbers on one side of : : and one number is given on another side of
: : while another number is to be found from the given alternatives, having the same relation with the number as the
number of the given pair.

Choose the correct alternative.
11:104.5::17:7

Options:

1. = 85

2 % 125.

h

3w 147.

h

h

A. v 161.

Question Number : 2 Question Id : 586180996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

;1% T AR A HEAHt & 99 ve fAfRea wew g, AR & gEd 3R ve " & w7, SEfe
foT arv Reredl # ¥ 30 T @9 ¢ 5w 35 gemr ¥ 98 geyg @ o for aw g & gt &
g &

Ter e T

s 1T

Options:



2 &« 1255
3. % 1475
4. « 1615

Question Number : 3 Question Id : 586180997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the related word from the given alternatives.

PHOTO : FILM :: PHOTOSTAT : ?
Options:

1. ¢ Paper

2  Electricity

73 x Voltage controller

/. % Barometer

Question Number : 3 Question Id : 586180997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feT av Raear # ¥ HaUg e & T F|
By em - mE=e : ?

Options:




ITHT TF
4.

Question Number : 4 Question Id : 586180998 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated numbers is given. Choose a numbers from the given alternatives that is similar to the given
numbers and hence belongs to the same group.

107 : 109 : 113
Options:

1. % 105
27 % 111
3 % 129

A« 157

Question Number : 4 Question Id : 586180998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT ST FEfUT BEmst # ve wAg foam T g fow e et ® @7 wewr g S & 9wt
& FAA & 3R 5§ FHR 38 §4g € §atOd @l

107 - 105 : 113

Options:



1.« 105

2w 111
3 % 129
4. v 157

Question Number : 5 Question Id : 586180999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the same as Kennel, Aviary, and Shed?
Options:
1. « Stable

? % Monk

3 x Dog

4. = Bird

Question Number : 5 Question Id : 586180999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Taf@a 7 ¥ 9 I o @y, gefener 31t oo ¥ g/ T & g

Options:



3. x T
4, « M@

Question Number : 6 Question Id : 5861801000 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Four pairs of words are given out of which the words in three pairs bear a certain common relationship. Choose the pair
in which the words are differently related.

Options:
1. » Kilogram : Gram

? % Litre : Millilitre

3  Scale:Length

/. % Foot:Inch

Question Number : 6 Question Id : 5861801000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et F AR AR BT aw § B @ & S # et F §9 v Aftew wAe wEy | 9w e g9
o ae o i 9 ¥ WER g #

Options:

1. = foraEms : Irw

2w @ A



Question Number : 7 Question Id : 5861801001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four pairs of numbers are given out of which the numbers in three pairs bear a certain common relationship. Choose the
pair in which the numbers are differently related.

Options:
1. % 18-198

7 % 15165

3 % 16-176

A v 21273

Question Number : 7 Question Id : 5861801001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl & AR S fGw aw § OeH @ e ISt 7 =kt & 9= ve Affag gA= dey g ag e g7
o o i 9oR ¥ e g #

Options:
1. % 18-198
2 % 15-165

3. % 16-176



4. « 21-273

Question Number : 8 Question Id : 5861801002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One morning Dev walked 100m west from his house and then took right turn and walked 150m. Finally he took left
turn and walked 100m to reach temple. What is the minimum distance and in which direction the temple is from the
Dev’s house?

Options:

1. ® 250m North - East
7 % 250 km North - West
3.« 250 m North - West

4. % 250 m South - West

Question Number : 8 Question Id : 5861801002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U FAE 47 IS W F 100m TR=A #r 3 Ter AN Y afes #gew 150m Tem awfaw # %
¢ e AR 100m et AT 98w AT 4 F W & AT H A g AR gwer fwr ww B2

Options:

1 y 250m 3R - @

2 % 250 km 3ca¥ - 9¥EH

3.« 250 m 3N - 9EH

A« 250 m gfEOT - aFER



Question Number : 9 Question Id : 5861801003 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Sachin, Sahil, Sandhya, Sani, Sanju, Saurabh, Shweta and Sunil are sitting around a round table in the same order for
lunch at equal distance. Their positions are clockwise. If Sanju sits in South- East, then what will be the position of
Sandhya?

Options:
1. «+ North - East

? % North

3 % South

/. = South - West

Question Number : 9 Question Id : 5861801003 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T, wifee, @, B, §e), e, @ R gEe, 99 & O o e A9 F 9t 3R A gRE
W SH FH H 9 g1 3e1ehr Pula gEvmEs g1 3 w1 favag & dor &, o wear #r Pyl Fw g

Options:

1, » BT

7 x 3Jcdl

Question Number : 10 Question Id : 5861801004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Three different positions of the same dice are shown. Find which one is opposite the face showing %' ?

==

™
m% N

)

Options:

1« & O

Question Number : 10 Question Id : 5861801004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Th T f AT Rftem Tufow guE i # w9 = BN F BolE ves W Fia O sy aefe

* 3 o)

.
P o A\
1

Options:

1.2 &

2.«“



Question Number : 11 Question Id : 5861801005 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Six children A, B, C, D, E and F are standing in a line. F is to the left of E and right of B. D is between A and B. A is
standing right of C Who is standing at the second to the right A?

Options:
1. & C

Question Number : 11 Question Id : 5861801005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GET=a A B, C, D, ERFF g F @I F,EFav 3R BFIav g D, ANRBFIFH
gl A, C & 3T ST gl A & alfgd & 8L TUH T Hid TST 82

Options:



Question Number : 12 Question Id : 5861801006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S, T.U, V. X, Y and Z are sitting around a round table for group discussion. Y is sitting third to the right of S and
between V and X. Z is sitting second to the left of T. V is sitting second to the left of X. What will be the position of Z?

Options:
1. % Z issitting second to the left of X

7 Zissitting between U and S
3 x ZIssitting second to the left of V

4. = ZIissitting third to the left of X

Question Number : 12 Question Id : 5861801006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S, T,U V. X, Y 3R Z g 997 % AT & alierdA=l & 9RT AR dS 81 Y, S & ¢ I T |
ARVIARXFEATH G Z, T % a0 g B9 W 81 V, X &F a0 gy TF W g Z & Bufy #=r g2

Options:

1 x Z, X % &T gal T T 437 g

2 4 Z U3R S & d= A Ja1 gl

3 Z V¥ T g T R 4 g



4 % Z X @& 9¢ JEY T W ST gl

Question Number : 13 Question Id : 5861801007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Ram is sitting to the right of Manoj and Second to the left of Schan.
I Shreya is sitting right of Sohan and second to the right of Dinesh.
III.  Dinesh is sitting middle of all.

If the first two statements are true, the third statement is:

Options:

1. v Tme

? % False

3 x May be true

/. % Uncertain

Question Number : 13 Question Id : 5861801007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

. TAE, FAST & R HR AT FEA & a0 F gAY T W ST g

. 3@ HEe & afger AR, HR A & g% 3R & g ' W S8 2
Il feerer @ees &9 # a7 €

Ife vgel &7 FUT T g, dl dIaT Haa:

Options:

1. v &



3. % WE & Fehdll gl

4 HE&EREF F

Question Number : 14 Question Id : 5861801008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an examination a student score 3 marks for every correct answer and losses 1 mark for every wrong answer. If he
attempts all 60 questions and score 120 marks, the number of questions he attempt correctly is:

Options:
1. = 60

7 % 40

3w 45

4 = 15

Question Number : 14 Question Id : 5861801008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T A o AT T R SR F RT3 A i v o 3o F w1 3=
Fre orgr Sar &1 3 3 T 60 e g ar § AR 120 3% 9F FT g, af 3°F g By e
TET 3eadl &1 T gem

Options:
1. = 60
2w 40

3 v 45



Question Number : 15 Question Id : 5861801009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the image of the figure if mirror is placed right of the figure?

Al

Options:

e
S
4
K4



Question Number : 15 Question Id : 5861801009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofE guoT # 3T & S AT @ AT 7, O Hpia F ofy Far gene?

Options:

Question Number : 16 Question Id : 5861801010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Following are the criteria to recruit a Teacher in a college:
[.  The Applicant must be science graduate with 70% marks.
II.  Have his/her age in between 25 to 30 years as on 10-05-2019.
I1I. Have a PG degree/ 3 years diploma and must have completed B.Ed. with more than 65% marks.
IV. Have minimum 3 years’ experience in Teaching.
V.  Beready to join 2 year probation.
If a candidate satisfies all the criteria except

at IIT above, but is an Arts with Mathematics graduate with minimum 72% marks and has an experience of more
than 5 vears and more her/his case is to be referred to the Vice President.

at I'V above, but master degrees with minimum 60% marks, her/his is to be referred to the President.

A detail of applicant is given below in the questions. On the basis of the following decision which is based on the data
given above, mark the answer.

Devesh is a B.Sc. Graduate with 80% marks and has completed PG in Mathematics. He completed 28 years of age in
2017 and has 4 years’ experience as a Mathematics Faculty. He is ready to join probation period of 2 year.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. If case is to be referred to President.

7 If case is to be referred to Vice President.

3. If candidate is to be selected.

4], If candidate is not to be selected.

Question Number : 16 Question Id : 5861801010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TE FHoS H U [T Fr el &g ATves A e aw &

. ¥EEE & 70% 3 & T e T gler dfFerd g

Il. 10-05-2019 r 3HHr 3Mg 25 ¥ 30 W F A= geAr =TT

I, &=t 333 a1 RBeaiAr g stwar 65% & 31fUe 3t & @y dhus. o R En
IV. feT0T & 7 § FA 3 a9 F 37T &

V. 2 a¥ & giEeT w fage @ & e aaw g

Ifg v el FHET ATEE W AT ¢ e

3o Il &% #AREFT e wgeiasm 72% &0 & Ty 109 ’R Fer TEF g, HR 5 a¥ §F A @
HT B, A THH! ATHAT SUTCTET F FEod fHdT ST

379 IV & fafea, afha #gaa" 60% 3 & Ty AweX 33 g, af 3H&T ATHen 37euay & deed
ferar sreem)

W Ueh HHcaH o faaqur A fGT T §1 3@ gEenst & 3R ¥ Fe o & s w3
Rfeea =3

Gaer 80% 37T F WY ATH.H. TAEF g, A A0 F I g B g1 2017 # 3w 28 € wg OO
$r g A 70T TFT F T H 4 I F T g1 TE 2 T F 9REGeT | Fgea @w F v qaw g

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:
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> g AT FICTET FT TEHT AT ST &

3 ofg szt @t gea faar s@r @

4 ofg sedt & fgea 7@ fohar s &

Question Number : 17 Question Id : 5861801011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Following are qualifications for a technical assistant post in company Alpha.

The candidate must:-
E Be an Engineering graduate with atleast 70% marks.
II. Not less than 23 years and not more than 30 years of age on 1.7.2019.
III. Have passed the selection test with atleast 60% marks.

IV.  Willing to join immediate for training and ready to pay a deposit of Rs. 20000, to be refunded on
completion of training.

However, if a candidate fulfils the above mentioned criteria except :

I At (I) above, but he has passed Master degree in Computer, his/her case may be referred to the V.P. of the
company.
il. At (II) his/her age is less than 23 years but he secured 80% marks in graduation, the case may be referred to

the General Manager of the company.

The detail of the candidate is given as regards his/her candidature. You have to read the information provided and
decide his/her status based on the conditions given above.

Mahvish is an IT engineer passed his graduation with 60% marks. After getting the engineering degree he has
done MCA. He has cleared the selection test with 7020 marks.

He is ready to deposit above said amount and want to join immediately. His date of birth is 2.10.1993,
Options:
1. = If the candidate is to be selected

7 % If the candidate is not selected

3.« Ifthe case is referred to the V. P.

/. » Ifthe case is referred to the General Manager

Question Number : 17 Question Id : 5861801011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 = ofg st &1 o Ser g

2 afg Tt #r 78 AT HATAT ET

3. » i A . F GeEed Har FE 2l

A, w e ATH AGIELF HI TG HAT AT g

Question Number : 18 Question Id : 5861801012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The statement given below is followed by two decisions labeled I. and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: Today, as per census in the last 20 years there has been an almost continuous decline in mortality and
fertility has been increased over the last 10 years. The consequence is that there has been a rapid growth in population
over the last 15 years.

Decisions:
I: India should immediately adopt family planning program.

II: The government should launch a massive education program through social media highlighting the implication of
population growth at the present rate.

Options:
1. % OnlyIfollows

? « BothI and II follow

3. % Either I or II follow

4. % OnlyII follows

Question Number : 18 Question Id : 5861801012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A U wyw & &g g o |, AR 1 Be v ) e Fua # uiaar T AT g R B 3w
forefifitg T & & ot & @ 9 & vy oFeea w7 & @@ &
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T F e o F gfE g5 &1 IROTE 7 a0 ¥ T Fow 15 a9 F Sawen # O ¥ 3R g8 8

Aot
I T F A IER FETT FRFA 3= T

lI: FHR I FoAA & R FAECAT I & FhAET TR Fh1eT STl g Herer A1 & #@egs § o
T3 AAS W FAATNET FEHH YT HAT AT

Options:

1« Haa | WEr &l




2, | AR I g = E

3w FArl Tl wEr g

4_ o m”ﬂﬁ%l

Question Number : 19 Question Id : 5861801013 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I. and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: Orissa if badly affected by Fani cyclone and people will die due to drinking polluted water during these
days.

Decisions:
I: The government should make adequate arrangement to provide safe drinking water to all affected people.

I: The people should be educated about dangers of drinking polluted water.
Options:
1. » OnlyIfollows

? « BothIandII follow

3. % Either I or II follow

4. = OnlyII follows

Question Number : 19 Question Id : 5861801013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1« &aa | TEr &l

2 | 3R g =R

3.« ATl Il mEr gl

4w e |l T B

Question Number : 20 Question Id : 5861801014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Susheel walks a distance of 3 kms towards North, then turns to his left and walks for 2 kms. He again turns left and
walks for 3 kms. Af this point. he turms to his left and walks for 3 kms. How many kms is he from the starting point?

Options:
1. = 5
? % 2



4 v 1

Question Number : 20 Question Id : 5861801014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M 3eal HT AT 3 kms Torar ¢, T 390 715 3N q3a1 € 3R 2 kms 7% Iar g1 38 /T & 7w
5T & AR 3 kms Forar g1 Tg A F & 9 % AR AT ¢, AN 3 kms T g1 TE TS BT
ﬁg'@fﬁ-ﬂﬁkmseg?l

Options:

Mental Ability2

Group Number : 2

Group Id: 58618043

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0
Mental Ability?2

Section Id : 58618047



Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 58618062
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5861801015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are in the figure?

Options:
1. = 16

? v 17
3 % 19

4 = 18

Question Number : 21 Question Id : 5861801015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fors & e e &2

Options:



2. v 17
3 = 19
4 = 18

Question Number : 22 Question Id : 5861801016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a code language, PARENT is written as BDFGJK and CHILDREN is written as MOXQUFGJ, then how is REPRINT
written in that code?

Options:
1. * FGBFXGD

7 % BGBFXIK

3 % FGBUXIK

A » FGBFXIK

Question Number : 22 Question Id : 5861801016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Te T 9T &, PARENT &r BDFGJK 3T CHILDREN & MOXQUFGJ & 7 & forgr =mar &, o 347
FE 9T F REPRINT & & fBrgr smeem?

Options:

1. = FGBFXGD



2 % BGBFXJK

3. % FGBUXJK

4. v FGBFXJK

Question Number : 23 Question Id : 5861801017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four letter clusters are given out of which the three letter clusters bear a certain common relationship. Choose the option
in which the letter clusters are differently related.

Options:
1. = BCDF

7 % GHIK

3. = LMNP

4. « RSTU

Question Number : 23 Question Id : 5861801017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A= AT 3R wHE T 9w €, owd @ @ s weg e # R a1 e afes & wefee B s
H F9Y A WA I e FHEN T FmeT T4

Options:

1. = BCDF

2 % GHIK



3. % LMNP

4. « RSTU

Question Number : 24 Question Id : 5861801018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four numbers are given out of which the three numbers bear a certain common relationship. Choose the number which
is different from others.

Options:
1. « 115

Question Number : 24 Question Id : 5861801018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o g & o ¥, B ¥ A gemat & 99 oF e g ey ¢ 9w dem ad S e @
o 21

Options:
1. v 115
2 x 756

3. % 855



4. % 198

Question Number : 25 Question Id : 5861801019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR e & o ¥, B ¥ A dEmat F @9 o fee e w9y ¢ 9w dem i S e @
IEco i

Options:
&0
B
3. ¥ @
X

Question Number : 25 Question Id : 5861801019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four figures are given out of which the three figures bear a certain common relationship. Choose the figure which is
different from others.

Options:



8D
B
@
S

Question Number : 26 Question Id : 5861801020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Venn diagram that best represents the given set of classes:

Fathers. Males. Human Being

Options:

T
/



3. %

Question Number : 26 Question Id : 5861801020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fi T 3 3@, T 710 Foit & FF=aa & Hafead Awd I g
fran, W, AT

Options:

Q0o
©

.



3. = .

4- %

Question Number : 27 Question Id : 5861801021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Venn diagram that best represents the given set of classes:

SKINS. BONES, LIVER

Options:



e

Question Number : 27 Question Id : 5861801021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

F T 3 3@, BT 710 @t & Fg=T F wEfcaw Feka = 8

Options:

1. =

.. DO

e

Question Number : 28 Question Id : 5861801022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If ‘A - B" means A is mother of B, A S B’. A is sister of B, ‘A (@ B’ means A is father of B and ‘A=B’ means A is son
of B.

IfR-S § O @ P =Q, then how Q is related to R?
Options:
1. «» Daughter in law

? % Son

3 x Daughter

/. % Niece

Question Number : 28 Question Id : 5861801022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T A-BFATABHR AL ASBFHNTABHIagas, ‘A@ B 7 5T A, B & fer
g, 3 ‘A=B & ¥ A, B # I ¥

I R-SSO0O@P=Q, @ QR ¥ &FF vox dgafag g2

Options:

1. v 8

2. % §&

Question Number : 29 Question Id : 5861801023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ram and Mohan are brothers. Shweta and Anu are sisters. Dinesh is husband of Manju, who is daughter of Manoj. Ram
is son Manoj and Anu is daughter of Dinesh. How Ram is related to Anu?



Options:
1. + Uncle

? % Brother
3. % Father

4. % Brother in law

Question Number : 29 Question Id : 5861801023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T N A, o715 81 =9 AR 3, s €1 TRy, A # 9fa 7, S A F O 71 TR, A F
77 &, 3k 3, R $r 55w ¥ 1w, 3 ¥ fhw weR wEfia 0

Options:

1. « ==

2.« HIF

4_%337'7‘1%

Question Number : 30 Question Id : 5861801024 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

If ‘P * Q® means P is father of Q, ‘P % Q’, P is daughter of Q, ‘P # Q' means P is mother of Q and ‘P = Q" means Q is
son of P

IfM * N # O =R, then how R is related to M?
Options:



1. « Grand grand son

? % Son

3. % Father

/. = Mother in law

Question Number : 30 Question Id : 5861801024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P+ QHHATP, Q# BT E, P Q FHxIP, QF I, P# Q FHT P, QHATE,

NP =Q & 7T Q P& IFE

FIE M+« N#0O =R, @ R M¥T F ger gafea g7
Options:

1. v EET

2 % ®ar

Question Number : 31 Question Id : 5861801025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In certain code PEASANT is written as Q21T10U and RIDE is written as S3E2, How will be SUBJECT written in

that code?
Options:
1. # T5SCESDU



2 % T21CK2DU

3« T5CK2DU

A % T5CK24U

Question Number : 31 Question Id : 5861801025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s 9T = 7 PEASANT & Q21T10U 3T RIDE & S3E2 for@r =mar %I 34T FE F SUBJECT
F FE g omr FJeEn?

Options:

1. = T5CK5DU

2 % T21CK2DU

3. v T5CK2DU

4. % T5CK24U

Question Number : 32 Question Id : 5861801026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If vou are eleventh in a queue starting either end, how many are there in the queue?
Options:

1. ® Eleven

? s Thirteen



R Twenty one

4. « Twenty Two

Question Number : 32 Question Id : 5861801026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I T FAR A I T AR IS & 11 § T WE A, FaARX & T ooaa Al §2

Options:

1. » &

2_%#“?

Question Number : 33 Question Id : 5861801027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of signs, when their positions are interchanged. will correctly solve the given mathematical
equation?

15+3-10+2%x5=35

Options:
1. = +and=x
? « “+and+

3. % +andx



4] % +and-

Question Number : 33 Question Id : 5861801027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forr & @ oow e oow A, 3o ufoar sweow s = o¢ fearm smar 1o wemeor w6 & @
FTT?

15+3-10+2x5=5
Options:

1. = s

Question Number : 34 Question Id : 5861801028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given
mathematical equation?

6+3%x2+4-7=7
Options:
1. ¢ 6 and 2. + and —

? % 3 and 6, — and *

3 x 4and7, xand+



4 = 3and 7. +and —

Question Number : 34 Question Id : 5861801028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wewst 7 el & oo 7 @ 5w goa 7, 30 ufadr Rew se 9 W e s aftd
THTHIOT TET goT g ATTI?

6+3x2+4-7=7
Options:

1 «» 63R2 +3R-

2 % 336, - 3R x

3 0« 437, x 3R+

4_3333%??,"‘3%?'

Question Number : 35 Question Id : 5861801029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some teams take parts in a cricket tournament. Each one has to play with every other one. If there are 45 games played.
How many team are there in tournament?

Options:
1.+~ 10

L

? % 1

4 = 22



Question Number : 35 Question Id : 5861801029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vs frhe e A 555 OAT o #197 fOmT ¥ S & 9% 3T § UF 9R W ¢l 3PN J@r W 45
IEE el AR §, aF TAEe J e & &2

Options:

1. v 10
2 = 15
3 = 18
4 = 22

Question Number : 36 Question Id : 5861801030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words have been given out of which three are alike in some manner, while the fourth one is different. Choose out
the odd one.

Options:
1. ® Lumber

2 w Gallop
3. v Lamb

4. = Trot

Question Number : 36 Question Id : 5861801030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR g fov o § Gmd & A= el wor wae § Sefe Stur foes 81 e @ g9

Options:



4, « T IS

Question Number : 37 Question Id : 5861801031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In problem, out of four figures marked 1, 2, 3 and 4, three are similar in a certain manner. However one figure is not like

the other three. Choose the figure which is different from the rest.

Answer Fig.

B\% % |

1 2 3 4

Options:

1. %1

I

2. %

Question Number : 37 Question Id : 5861801031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T H, 1, 2, 3 AR 4 3T o1 "ET # ¥ 99 O 9eR g8 21 g v R, 3w 3 & g A
A T T g S Av @ B A

3eal AR

B\% % |

| 2 q 4
Options:
1% 1
? = 2
3. v 3

Question Number : 38 Question Id : 5861801032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

3, 5,917, 2
Options:
1. = 30

? & 33



Question Number : 38 Question Id : 5861801032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ T I S g@er 7 woF foeg (7) #F WEr yioeia T

3.5 9 17,7
Options:

1. = 30
2. v 33

3 0w 34

4. = 36

Question Number : 39 Question Id : 5861801033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HEPA filters are used to remove any air borne particle with
size 0.3 microns. The full form of HEPA is?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 250
2 276
3. 306

4. 416

Question Number : 39 Question Id : 5861801033 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

¢ faeT I S g@er # voF ey (7) & wér giaraia e

21, 40, 78, 154, ?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:
1. 250
2 276
3. 306
4. 416

Question Number : 40 Question Id : 5861801034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

5, 15,30, 90,7
Options:
1. % 120

7 % 105

3 % 150

A v 180

Question Number : 40 Question Id : 5861801034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T faweT g S g@er # geF Reg (?) # " yiawwig s

b, 15, 30, 90, ?

Options:

1. = 120

2 % 105

3 % 150

4. « 180

General Awarenessl

Group Number : 3

Group Id: 58618044

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awarenessl1

Section Id : 58618048
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section 1d: 58618063
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5861801035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SaTHET 'SIRIEIIT T SET Blell el & T §3 AT
SaATeHET [AFRIel A 8§ U g1 I8 Sarengd@r fog 2o 7 g
X

Options:
1. = GI&IOT 37ThIeRT

#®

%

4

Question Number : 41 Question Id : 5861801035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The volcano ‘Krakatoa’eruption is one of the world’s greatest
recorded volcanic eruption. In which country this volcano is
located?

Options:

1. » South Africa
2. = Mongolia

3. v Indonesia

4. = China

Question Number : 42 Question Id : 5861801036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HEPA filters are used to remove any air borne particle with
size 0.3 microns. The full form of HEPA is?

Options:

1. = High Efficiency Polluted Air
2. v High Efficiency Particulate Air



3. » High End Particulate Air
4. = High Efficiency Pollen Air

Question Number : 42 Question Id : 5861801036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HEPA ftheeT &1 39ler 0.3 ATShIe 3R & FohdT o arg
STl 0T I Theed Flal & ToIv foham SATaT &1 HEPA &7 920
STH T &7

1p.wa1-étrfﬁsf51ﬁ¢ﬁq‘1‘@ﬁ-sfm
2. v g8 UThfRIedr arfidsgele Taw
3. = g3 US UfEFele VAT

4, = g UTHIRIUHT dlelel TR

Question Number : 43 Question Id : 5861801037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is the world’s most polluted river?

Options:

1. v Citarum
2. = Marilao
3. # Sarno

4. = Niger

Question Number : 43 Question Id : 5861801037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ferrafelf@e & & it & a4T gferam H qod TG 4T &7

Options:

1. v gA
2. = ARG

3. » gRam



4. » wAFT

Question Number : 44 Question Id : 5861801038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which Green House Gas among the following has the highest
heat trapping capacity?

Options:

1. » Water Vapour
2. v Methane

3. = Carbondioxide
4. = Nitrous Oxide

Question Number : 44 Question Id : 5861801038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eaeiEa & 8 fg i 839 i 7, g8 39 AT Udha
T &HIT BT &7

Options:

1. = STeldlsq
2. v Hrae

3. = ool SBIFHSS

4. = STSCH 35S

Question Number : 45 Question Id : 5861801039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was ranked number 1 at the Malaysian Open
Badminton-2019 in the Women Singles category?

Options:

1. v Tal Tzu Ying

2. = Akane Yamaguchi
3. = Chen Yufel

4. = Nozomil Okuhara



Question Number : 45 Question Id : 5861801039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hol Tl el 8T e - 2019 H ATgoT Ushel T97 H Ugol
TATT 9T Ia dTell ollal hl oTH &7

Options:

‘I.JFI'I%‘FIT;ID'%T
2.%3-13?I?r€|'m'l'cg?ﬁ

3. % T ThS
4.&3’!%31@%1?

Question Number : 46 Question Id : 5861801040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which day in India is observed as ‘Shaurya Diwas’ (Valour
Day) by Central Reserve Police Force (CRPF)?

Options:

1. = May 9th

2. » March 9th

3. v April 9th

4. = February 9th

Question Number : 46 Question Id : 5861801040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR H Farg R qford sof (CRPF) ZanT ford foet a7 ‘ol
g’ & 7 & AT ATAT 87

Options:

1. = 9 A%
2. = 9 AT
3. v 9 31¥a
4, = 9 HIHT




Question Number : 47 Question Id : 5861801041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which player among the following is not included in the
squad which will be playing ICC Cricket World Cup 2019?

Options:

1. = Vijay Shankar
2. = Yuzvendra Chahal
3. » Hardik Pandya
4. v Krunal Pandya

Question Number : 47 Question Id : 5861801041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ICC Torahe BT 7 2019 B Wr &F A Taoi@ad & &
FleT @1 Eomsr enfaer 780 &7

Options:

1. = T el

2. = goldg Tg

3. = BI&eh 9540
4. v FOTSA qrsaT

Question Number : 48 Question Id : 5861801042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following received the Noble Prize in the field
of Economic Sciences for the year 2018?

Options:

1. = George P Smith
2. v Paul M Romer
3. » Nadia Murad
4. = Tasuku Honjo

Question Number : 48 Question Id : 5861801042 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

AFaAf@d & 8 8 2018 T AT FT Al WERR THAT?

-

Options:

1. = Sitel Ur T
2. v Oidl TH AT
3. = ofear AIE
4.%6‘@@@

Question Number : 49 Question Id : 5861801043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The United Provinces of British India is now a part of which
modern state of India?

Options:

1. v Uttar Pradesh
2. = Telangana

3. » Rajasthan

4. » Odisha

Question Number : 49 Question Id : 5861801043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fSfeer sTma =1 H-gcrd UTd AT H 34T%_13ﬁ|7=|? TR & g
T ohl %'\Q:IT %J?

Options:

1. v 3cdl waer
2. % deldlell
3. % ITolETd

4. = 30f=em

Question Number : 50 Question Id : 5861801044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Who among the following was the main priest of Sama Veda
in Indian history?

Options:

1. = Adhvaryu
2. = Brahma
3. v Udgatri

4. = Hotrl

Question Number : 50 Question Id : 5861801044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d A @ Fla (AT A & @R aHde & vam
Rifee 47

Options:

1. = 373y
2. % SEHAT
3. v 3cdmHEm
4,

. g

Question Number : 51 Question Id : 5861801045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following had established the Swaraj Party in
19237

Options:

1. v Motilal Nehru & C.R.Das
2. » Dadabhal Naoroji

3. » Sardar Vallabhai Patel
4. = Lal Bahadur Shastry

Question Number : 51 Question Id : 5861801045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeIfelEaaT A & forga 1923 H T@IST 9Tl shl TATIAT hT o1?



Options:

1. ¢ Aldrerel ag® T IR, o
2. = ZIGTHTS SAISlT

3. * TER deadATs Ucdl

4. = ITeT SEIGL ATEAT

Question Number : 52 Question Id : 5861801046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the court of which Indian king, Chand Bardal was a poet?

Options:

1. = Krishna Deva Raya
2. v Prithvi Raj Chauhan
3. * Rana Sanga

4. = Ashoka

Question Number : 52 Question Id : 5861801046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ie es ford 9RO IS & &R # Fig 47

Options:

1. = FoURT I

2. v qzaT Tl dIge
3. = JIOM GEM
4, = 37eTh

Question Number : 53 Question Id : 5861801047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which state among the following does not have bicameral
houses (both legislative assembly and legislative council)?

Options:

1. = Bihar
2. = Uttar Pradesh



3. » Andhra Pradesh
4. v West Bengal

Question Number : 53 Question Id : 5861801047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frfefEa # 8 fra T & gueaa gea (faumer germ 3k
fourer aRwe g «1gr &7

1p.wﬁ31'\r

2. ®= 3cal UG

3. = 3T ver

4. v 9iegH F9T

Question Number : 54 Question Id : 5861801048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The standing committee of the Indian Parliament with
highest membership is?

Options:

1. = All committees have equal membership
2. = Public undertakings committee

3. = Public accounts committee

4. v Estimates Committee

Question Number : 54 Question Id : 5861801048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TAH HeEddT alell AT 4 =l TAR™T A3 &7

Options:

1. «» T iR 7 geeat Fr gEar AT g dar &
2. = TIGolfaleh 3TshH TTHAT
3. = gidoifelsh ol@T ATATT




4. v 3Traed TfATT

Question Number : 55 Question Id : 5861801049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

First Indian state where Communist Party of India was
elected to power 18?

Options:

1. = Orissa
2. v Kerala
3. » West Bengal
4. = Chhattisgarh

Question Number : 55 Question Id : 5861801049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARAT FHIee Ul ol AR T A Ugell S AcdTdld]
_js‘é oT?

Options:

1. % 37f=em
2. v FTol
3. = UIeIH STl

4. *» Bcdr GG

Question Number : 56 Question Id : 5861801050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which articles of the Indian constitution contains the
directive principles of state policy?

Options:

1. v Articles 36 to 51
2. » Articles 26 to 41
3. = Articles 46 to 61
4. = Articles 16 to 21



Question Number : 56 Question Id : 5861801050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR Sfaare & et sfefeaal # T & oA e
fagrar s enfder TRar araT &7

Options:

1. v 37esg 36 | 51
2. » Ty 26 H 41
3. » MelToT 46 H 61
4. » g 16 ¥ 21

Question Number : 57 Question Id : 5861801051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of the Indian constitution provides protection
against arrest and detention in certain cases?

Options:

1. = Article 25
2. » Article 32
3. v Article 22
4. = Article 28

Question Number : 57 Question Id : 5861801051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRATT HTdeTel kT hial I aa_lnéﬁq H ATl A FIrarT 3T
oo & FI&TT Telel Tl &7

Options:

1. » 3feTese 25
. * 3eeose 32
.ﬁﬁﬂﬁ?{22
. * 3eeose 28

=~ W M



Question Number : 58 Question Id : 5861801052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of the Indian constitution contains details of
Secretariat of the Parliament?

Options:

1. = Article 108
2. » Article 68
3. = Article 78
4. v Article 98

Question Number : 58 Question Id : 5861801052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TP & [FF eeoe A e & Fgred T [Gaev]
fear amar &7

Options:

1. = 37qeog 108
2. » 3T 68
3. = 3Ieag 78
4.6?3-1721«_95?[98

Question Number : 59 Question Id : 5861801053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which game is Sahaj Grover associated?

Options:

1. v Chess

2. » Billiards

3. = Badminton
4. = Shooting

Question Number : 59 Question Id : 5861801053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eol Ao fd T & Felad §7

Options:

1. v st
2. « Tofergsd

ey

3. » d=THeA
4. = gféar

Question Number : 60 Question Id : 5861801054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The terms cross bar, drop goal and lock forward are
associated with which one of the following games?

Options:

1. = Golf

2. v Rughy

3. = Ice Hockey

4. = American Football

Question Number : 60 Question Id : 5861801054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I &, 319 el 3R ik BRds eg [aareli@d H & fha
el & 53 §7

Options:

1. = JeH
2. v T@Er

3. = 33 &l
4.w3ﬂqﬁ#rgﬁa‘1%r

General Awareness2

Group Number : 4



Group Id: 58618045

Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
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Minimum Instruction Time: 0
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Section type: Online
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5861801055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ‘Todd Memorial Trophy' is associated with which one of
the following sports in India?

Options:

1. = Cricket

2. » Badminton
3. = Hockey

4. v Football

Question Number : 61 Question Id : 5861801055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS AR T Tdaafelidd # & Thd ARG o 8

Options:



1. = Tohehe
2. = SSTHCH
3. = BIehT

4.%3@7?»[

Question Number : 62 Question Id : 5861801056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The famous ‘Madhubani’ painting originated in which one of
the following states of India?

Options:

1. = Rajasthan

2. » Qrissa

3. v Bihar

4. » Himachal Pradesh

Question Number : 62 Question Id : 5861801056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UiE "AYSEr 9iedT FT 3cUlcd [Araliad 7 & frg adar
mﬁg‘éaﬂ‘?

Options:

1. = JTSTFEUTA

2. = 3SR
3. v T98R
4. = TZATTST waer

Question Number : 63 Question Id : 5861801057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was India’s first national academy of arts
Sangeet Natak Akademi created?

Options:




1. = 1962
2. v 1952
3. = 1942
4. = 1972

Question Number : 63 Question Id : 5861801057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T hT Ugell ISR holl 3ThIGAHT “HIlld dATceh 3ThIgAT”, fohd
ay §els 5 A

Options:

1. = 1962
2. v 1952
3. = 1942
4. = 1972

Question Number : 64 Question Id : 5861801058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which Indian state ‘Lavani’ dance is popular?

Options:

1. = Uttar pradesh
2. » Kashmir

3. v Maharashtra
4. = Kerala

Question Number : 64 Question Id : 5861801058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AN T W & 6T o A ol g7

Options:

1. * 3cdl waer
2. % FIHT




3. v HAENISE
4, = FLoT

Question Number : 65 Question Id : 5861801059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The world’s largest Hydroelectric project is?

Options:

1. » Mc Nary

2. » Gurl

3. v Three Gorges
4. = Tucurul

Question Number : 65 Question Id : 5861801059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fGeg &1 ged 87 gafastelr gRASET 7

Options:

1. = #HF AR
2. = A

3. v 9T Aol
4, = THES

B s

Question Number : 66 Question Id : 5861801060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country-capital among the following is wrongly
matched?

Options:

1. v Albania-Luanda

2. » Armenia-Yerevan
3. » Azerbaljan-Baku
4. » Bahamas-Nassau



Question Number : 66 Question Id : 5861801060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFafela & & &l A7 QUG T JAel ITold g7

Options:

1. v 3TedladT - c:ijd-liSl
2. % 3THTAAT - AT

3. % 3SSSITd - ST

4, = gAY - dd>

Question Number : 67 Question Id : 5861801061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is Rani Avantibal Lodi sagar irrigation project located
in India?

Options:

1. = Uttar Pradesh

2. » Kashmir

3. v Madhya Pradesh
4. » Karnataka

Question Number : 67 Question Id : 5861801061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRT H Tl adiers el PR [8a9s aRIIsi«r $ar fud §7?

1. ® 3cdd el
2. » AR
3. v HET yder
4. = Falch

Question Number : 68 Question Id : 5861801062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which ministry conducts the Economic Census in India?

Options:



1. ¥ Ministry of Statistics and Program Implementation
2. = Ministry of Finance

3. = Ministry of Commerce and Industry

4. = Ministry of consumer affairs

Question Number : 68 Question Id : 5861801062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR H 377eR STeAaToTal] % TART T ATl gl

Options:

1. v OITETHRT 3T FRIFH FRTadT FIT

2. » Tdcd AATe
3. = Uy 3 38RT HATe™
4.

« ITHISFAT HATHS FT HIATe

Question Number : 69 Question Id : 5861801063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which committee appointed by Government of India
recommended replacement of MRTP act with Competition Act?

Options:

1. = Pranab Committee

2. = Sachar Committee

3. v S.Raghavan Committee
4. = Mahajan Committee

Question Number : 69 Question Id : 5861801063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT WFR @R fagerd e af@fa a8 MRTP stfafaam &
AT I AR fafaad (Fedifeers vae) & ufaeamdsT
T fawIfer #r?

Options:




« que ARt

» ool FiATT
v vg.IHad a@fafa
x HeTold IiATa

Question Number : 70 Question Id : 5861801064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Industrial Reconstruction Bank of India (IRBI) was renamed
as in the year 1997.

Options:

1. v Industrial Investment Bank of India Limited (IIBIL)
2. » Indian Bank of Investment (IBI)

3. = Investment bank of India Limited (IBIL)

4. = Investment Bank of Indian Industries (IBII)

ol

Question Number : 70 Question Id : 5861801064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a§ 1997 & =TS D-Fecere d% 3iH 22T (IRBI) 7
allH slgeiand LT I1T

Options:

1. v SEEEIIA Sed€cHe S 3w If=ar ffads (1IBIL)
2. « Eftger &F 3% seaeaiic (IBI)

3. * SodtcHe s 3% 8T feifdds (IBIL)

4. » SedteHe S 3T BIT ssEeraT (1BII)

Question Number : 71 Question Id : 5861801065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The chemical name of the popular pain-killer tablet Aspirin
18?

Options:




1. = 2-Bromo Benzoic acid

2. = 2-Nitro Benzaldehyde

3. v 2-Acetoxy Benzoic acid
4. = 2-hydroxy Benzaldehyde

Question Number : 71 Question Id : 5861801065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AROT 26 g el U ST TR 17 FaT &7

Options:

1. = 2 - §AT g5 UMAS

2. ® 2 - o3¢l Solllesal3s

3. v 2 - UTAeiadT Sellss UiEs

4, » 2 - EISSIFET SolleSaISS

Question Number : 72 Question Id : 5861801066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The instrument used for measuring magnifying power is?

Options:

1. * Magnetometer
2. v Auxometer

3. » Auriscope

4. » Atmometer

Question Number : 72 Question Id : 5861801066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mada eifdd AT o TolT WAer TRaAT ST arel
3URIOT &7

Options:

1. = HIdAaTAICT
2. v MTFaIART




3. = 3ARIEHIT
4. » UCHIATRT

Question Number : 73 Question Id : 5861801067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The disease ‘Hypokalemia’ refers to low amount of which
element in Human blood?

Options:

1. = Todine

2. % ZInc

3. = Iron

4. v Potassium

Question Number : 73 Question Id : 5861801067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BISUThToITAAT VT ATAT Iod H fopT deg FT FAT F F@efdd
AT &7

Options:

1. % 3TIETeT
2.  ST&Edr

3. % oNET
4. v qerETH

Question Number : 74 Question Id : 5861801068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is not a category of fertilizers?

Options:

1. = Potassium fertilizers
2. = Nitrogen fertilizers
3. » Phosphorous fertilizers



4. v Iron fertilizers

Question Number : 74 Question Id : 5861801068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forfaf®a & & s o 38Tt $T v Aol 76T &2

Options:

1. = OICTETH 39Tk

2. = SATSclelel 3aieh
3. * TIEHRYT 395h
4,

v REA 3a3h

Question Number : 75 Question Id : 5861801069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which research centre in India developed India’s first Inter-
Continental Ballistic Missile?

Options:

1. v DRDO

2. » BARC

3. = IIT-Delhi
4. » HAL

Question Number : 75 Question Id : 5861801069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR & TohE [T g o R HT Ggell H-AgEAI
dfoifes faarge fawfaa &

Options:

1. v SIAEIT

2. % STTHET

3. = 3BT - el
4



Question Number : 76 Question Id : 5861801070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of India’s first mission to study the Sun?

Options:

1. » SAURA-L1

2. » SURYA-L1

3. v ADITYA-L1
4. » INDOSUN-L1

Question Number : 76 Question Id : 5861801070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I HT I il Tlel AN s Tgel AL FT AH FT §7

Options:

1. = €RT - UoT 1
2. = ¥ - U 1
3. v & - ol 1
4. = 2T - L1

Question Number : 77 Question Id : 5861801071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is the name of the RADAR
developed by the Indian Army?

Options:

1. = SARATH
2. v INDRA

3. = PARAM
4. » ROHINI

Question Number : 77 Question Id : 5861801071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Il H & WA Qa1 G@RT Gl TR &7 A1 0
g7

Options:

1. =« XY
2. v &
3. = WH

4.« Ao

Question Number : 78 Question Id : 5861801072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the International Court of Justice (IC])
established?

Options:

1. = 1965
2. % 1960
3. v 1945
4. = 1950

Question Number : 78 Question Id : 5861801072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R wararerd (ICJ) FT Fardam fha a¥ & g5 47

Options:

1. = 1965
2. = 1960
3. v 1945
4. = 1950

Question Number : 79 Question Id : 5861801073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Where is the head office of University Grants Commission
located in India?

Options:

1. » Chennai
2. » Mumbali
3. » Bangalore
4. v New Delhi

Question Number : 79 Question Id : 5861801073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H Taeafdedrerd Jfeela 3GET FT JuTa FdTerd Fgl
P &7

Options:

1. » Jdods
2. = HSg
3. = Tl
4. v A% feeelr

Question Number : 80 Question Id : 5861801074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Central Board of Film Certification is a statutory body
working under which one of the following ministries in India?

Options:

1. = Ministry of Information Technology

2. v Ministry of Information and Broadcasting
3. » Ministry of communications
4. = Ministry of Culture

Question Number : 80 Question Id : 5861801074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FET Thed WAV 915 U Jurfes g &, o 9Rg &
Ao Ed H & ohg HATOT & AT HIH HIdT &7

Options:

1. = T 3R WIGATERT Ao
2. v g 3 THROT HATed

. % N HATe™

3
4. » TP AAT

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

Isthis Group for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Arithmetic Ability1

5
58618046
0

0
No
No
0
20
No
Yes
0

0

Arithmetic Ability1

58618050
1

Online
Mandatory
20

20

20

Sub-Section Number: 1
Sub-Section Id: 58618065
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5861801075 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



V24* +/220% + V216 = x X /20* . The approximate value of 'x' is:
Options:

1. % 1

“
{
I

Question Number : 81 Question Id : 5861801075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

V244 ++/2202 + /216 = x Xx/20% 'x' FT [AFed® AF 9T FIL

Options:

1, % 1
2 = 3
3. v 2

Question Number : 82 Question Id : 5861801076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(10.7)* + (9.2)*4?= 250 .What should come in the place of (?)
Options:

1. % 52.87



oo
b4
:ﬂ
&
-1

'{;J
4

Ln
o
W]
|

!.[:.
®
L
L]
[#.a]
|

Question Number : 82 Question Id : 5861801076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(10.7)% + (9.2)242= 250 (?) & T UT FIAT AT AMET?
Options:

1 = 52.87
2« 5187
3. v 50.87
A % 53.87

Question Number : 83 Question Id : 5861801077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If /6084 +1/1471369—?= 286 , then what should come in the place of *?".
Options:
1. = 1004

7 % 1014



3.« 1005

A % 996

Question Number : 83 Question Id : 5861801077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afE V6084 +/1471369—7= 286 (?) & TATH U AT HTT =MgT?

Options:

1 = 1004
2« 1014
3. v 1005
A % 996

Question Number : 84 Question Id : 5861801078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

28% of 160+ x % of 180 = 86.2. The value of "x’ is:
Options:

1. = 21

4 v 23



Question Number : 84 Question Id : 5861801078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

160 &T 28% + 160+ x% of 180 = 86.2.'x' &1 A IdT H{:

Options:

1. = 21
7 ow 22
3 0w 24
4, v 23

Question Number : 85 Question Id : 5861801079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given 356 % 68 = 24208, then 24.208 +35.6 =7
Options:
1. = 0.068

7« 0.68

3 = 6.8

4 = 68

Question Number : 85 Question Id : 5861801079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ufe 356 x 68 = 24208 g, af 24.208 356 = ?

Options:



1. = 0.068

2. « 068
3 = 6.8
4 = 68

Question Number : 86 Question Id : 5861801080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given —— = 0.1344 then ——
7436 1]

—
0007436

Options:
1. v 1344
7 % 1.344

3. % 13440

A = 13.44

Question Number : 86 Question Id : 5861801080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 1
. SN o -
M —=01344 & @ =

0.0007436

Options:

1. » 1344



2 % 1.344

3. % 13440

4. = 13.44

Question Number : 87 Question Id : 5861801081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

8.85x78.3225+1.15x1.3225
79.645-101775

=7

Options:

1. % 1

? « 10

3.5 7.7

A % 100

Question Number : 87 Question Id : 5861801081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gel FL

8.85x 783225+ 1.15 X 1.3225
79.645 — 10.1775 i

Options:

1, * 1



2. v 10

4. = 100

Question Number : 88 Question Id : 5861801082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

2+ Zof (22432) 4222422
17 4 g 5 5 9 11

Options:

1.% 0

“
<
[

4 % 3

Question Number : 88 Question Id : 5861801082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g?»rﬁ:
T il - s e

Options:

1. = 0



Question Number : 89 Question Id : 5861801083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The simplified value of (4 g 4 ?g X1 g = 5 = 3; ot | g) is equal to:
Options:
1. = 28

2 & 22
3. 0w 24

4 = 32

Question Number : 89 Question Id : 5861801083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(43+ ?3x11+i—33—13) T TFT AT fFEd sUET ¥
3 3 2 2 3 3

Options:

1. = 28

2. v 22



Question Number : 90 Question Id : 5861801084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The pair of rational numbers that lie between 1/4 and 3/4 is:
Options:

265 7353
1. ® 1000’ 1000

13 39
? % s50’so

18 35
3. % 20’20

126 374

4. « so00'so00

Question Number : 90 Question Id : 5861801084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH W Wi O S 1/4 3T 3/4 F 9= 3 T IRAT gt &S A8 T

Options:
265 753
»
1. % 1000 1000




18 35
:3 % 40's0

126 374
4 500’500

Question Number : 91 Question Id : 5861801085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the HCF of % 1 i
Options:
8
1. % 20
2.« 30

i |

bb.
4
[
Ln

Question Number : 91 Question Id : 5861801085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 7 1
-, FEcaH FATITIT T4 FL|
Options:
.
1. = 20
1



ul |

:h.
¥
o=

Question Number : 92 Question Id : 5861801086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of two numbers is 9 : 11. Their LCM is 1485. The sum of the two numbers is:
Options:

1. = 400

A % 200

Question Number : 92 Question Id : 5861801086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar FEATHT & AT 9 ¢ 11§l 3 TYcaH THTAH 1485 §| AT HEATIHT FT TET FAIC:

Options:
1. % 400
2 % 250

3. « 300



4. % 200

Question Number : 93 Question Id : 5861801087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If (x — 3) is the HCF of x* — 5x + 6 and x* — kx + 9, then what is the value of k?

Options:

1. = 3

2. 6

L

3. %

4 = 4

Question Number : 93 Question Id : 5861801087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afE, x2 —5x+6 T x? —kx+9, FT Agcadq TANTY (x—3) &, a k & AF IaT FL?

Options:
1. = 3
2. v 6
3. = 5
4, = 4

Question Number : 94 Question Id : 5861801088 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Ifa:b=3:5 b:c=7:9¢c:d=3:7, thenthevalueofa:b:c:d =2
Options:

1 = 21:35:105:45

Lh

Lh
s
L

A« 21:3 : 105

Question Number : 94 Question Id : 5861801088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T a:b=3:5>b:c=7:9,c:d=3:7¢, @ a:bicid="?

Options:

1 %« 21:35: 105 : 45

2 % 21:45:35: 105

3. % 21:10:25: 45

4. v 21:35:45: 105

Question Number : 95 Question Id : 5861801089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

et FRITHT & BT T HeJdTd 5:6:8 B1 TG Feder Fam H Sral 1 HEAT 20 T & 1T, a 3ard
7:8:10 & ST g1 AT BTEN & A F Gge Ol $ Fol HEAT fohdedr o?

Options:



1. « 100

2 v 190
3. % 200
4. % 150

Question Number : 95 Question Id : 5861801089 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The students in three classes are in the ratio of 5 : 6 : 8. If 20 students are increased in each class, the ratio changes to
7 : §:10. What was the total number of students before the addition of new students?

Options:
1. = 100

7« 190

3 % 200

Question Number : 96 Question Id : 5861801090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If the income of Raghu is 40% more than Kumar, then the income of Kumar is less than that of Raghu by what percent?

Options:
1« 263%



2. % 2?3%
3 28%%

A
4, x 297%

Question Number : 96 Question Id : 5861801090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE TG FT IAGAT, FAN T AFGA F 40% H% g, & FAN Hr A TG HF HHAGAT ¥ et
gferera &5 &7

Options:

1 262%
5 272%
-
4« 292%

Question Number : 97 Question Id : 5861801091 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 WrongMarks: 0.25

If due to 10% decrease in the price of sugar, Avinash can buy 8 kg more sugar in Rs. 2700, what is the original price of
the sugar?

Options:
1. & Rs.35.5



Question Number : 97 Question Id : 5861801091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g R & Hea F 10% HT FAT FT & A g, ar Afa=mr T9F 2700 F 8 kg #Uw o TG

TFhT g, AT HT Hel Hed T FL?

Options:

1. = ¥99 355

2 % TAF 345

3. » TIY 36.5

4. » T 375

Question Number : 98 Question Id : 5861801092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A student scored 35% marks and failed by 50 marks. while another student who scored 60% marks, actually got 50
marks more than the minimum required marks to pass the exam. What were the maximum marks for which the exam
was conducted?

Options:
1. = 600

7« 400



Question Number : 98 Question Id : 5861801092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF BT 35% 3 oam ¢ ¥ offer & 50 3R @ e @ SGT §, F4ETF U 3T ©IF S 60% 3 o T
g, T8 TN 9TH F F 0 3EeTE gAaH Al § 50 7% 33 A g1 qfeT F 3Owan 3w
o &, S e afer smafsa & 75 o8

Options:
1. % 600
2. «» 400
3. % 500
4. = 700

Question Number : 99 Question Id : 5861801093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average of 150 numbers is 75. It is found that while calculating the average, two numbers 71 and 16 were wrongly
read as 17 and 61. What is the average if the readings of these two numbers are recorded correctly now?

Options:
1. = 74.06

3 & 75.06



4. % 76.06

Question Number : 99 Question Id : 5861801093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

150 37t Fr t@g 75 &1 T8 9ar o & 3tma fr uer s gHET, & gt 71 K 16 e @
17 3T 61 A1 o 713w aml IfE == o 9= & TEr &= fFar ae o aitwg F=r geie

Options:

1 % 74.08
2 % 73.06
3. v 75.08
4 % 76.06

Question Number : 100 Question Id : 5861801094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average age of 3 persons is 55 years. The ratio of their ages is 9 : 11 : 13. What is the difference between the age of
the oldest and the youngest person?

Options:
1. = 10 years

? 20 years

R 30 years

4. = 25 years

Question Number : 100 Question Id : 5861801094 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
3 =afFaar $r Hea 31 55 a¥ g1 30! A’ F Fd 9:11:13 g1 Fa& 737 Y 3N 798 FA7 7Y
et ket B 3 F fRaer HeR 87

Options:

1. = 10 @

2 & 20\

3.« 30 @re

4 = 25 @

Arithmetic Ability2

Group Number : 6

Group Id: 58618047

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithmetic Ability2

Section Id : 58618051
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section 1d: 58618066
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5861801095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A vendor sells 40 oranges for Rs. 4 thereby gaining 40%. How many oranges did he buy for Rs. 4?7

Options:

1.«

Ln
o

? w14

Question Number : 101 Question Id : 5861801095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T @%ar & T 4 F 40 Iy 99 3T 40% FT o7 FAAT 997 FL F 3T T 4 F FaT TN

Te?
Options:
1. v 56
2 = 14
3 0z 28
4 = 20

Question Number : 102 Question 1d : 5861801096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Karan bought pencils at the rate of 20 pencils for Rs. 22 and sold them at the rate of 22 pencils for Rs. 20. Find the
profit or loss percent.

Options:

1. =

1?%% loss

l?i% loss
121

2.

Al
3« 1T e Yo profit

1 « 17 =% profit

Question Number : 102 Question Id : 5861801096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mﬁmzzﬁrzoﬁﬁaaﬁﬁaﬂ?mzoﬁﬂﬁaaﬂﬁﬁg:rms:mgrﬁ'ra:rwaﬁl
Options:

1 1729 gifr

121

5 17 2 op gifer

o 121

17 =94 CIE

3 ® 121

At a7
4 = 1?121’{’

Question Number : 103 Question Id : 5861801097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper sells 2/3™ of his goods at 30% profit, 1/4% of his goods at 16% profit and the remaining goods at 12%
profit. He gains a profit of 15000 at the end. The cost price of the goods is:



Options:
1. % 50000

7 % 25000

3.« 60000

Question Number : 103 Question Id : 5861801097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U GEHGR & IS WA 2/3 frEar 30% wmsr W, 1/4 fFEAr 16% st 9y v avehr frear 12%
osr oY I f&@M 38 37 & 15000 FH WA EIHT| WHA F AR Hed Tl A

Options:
1. % 50000
2 % 25000
3. « 60000
A % 35000

Question Number : 104 Question Id : 5861801098 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Arun sold a radio by giving a discount of 10%. If he gives a discount of 12%, he earns Rs. 60 less as profit. What is the
marked price of the radio?

Options:
1. = 1500



7 % 4500

3. % 6000

A« 3000

Question Number : 104 Question Id : 5861801098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30T o 10% T T W T 3 a=m fg 98 12% T &, af 3§ T9F 60 & &A o ganl =4
F TAR Hed Tl {2

Options:
1 % 1500
2« 4500
3. % 6000
4. « 3000

Question Number : 105 Question Id : 5861801099 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A cloth store allows a discount of 30% on a shirt piece. If the cost price of the shirt piece is Rs.500 and the store wants
to get a profit of 40%, the marked price of the shirt piece should be:

Options:
1. = 900

7 1000



3. % 850

A % 950

Question Number : 105 Question Id : 5861801099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FI5 H UF A TH FAST W 30% ;ﬁ'ﬂ?—ﬂ'%‘l g FHAF F AR 5T TIF 500 %sﬂ'{wm%
TS FHAAT AET ¢, af TaT HL & 38 FHA F GTARK Hed Tohdell IW@AT ATET:

Options:

1. = 900
2. « 1000
3 % 850
A % 950

Question Number : 106 Question Id : 5861801100 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A certain sum in a certain time becomes Rs. 10000 at the rate of 8% per annum simple interest, and the same sum
amounts to Rs. 4000 at the rate of 2% per annum simple interest during the same period. What are the values of the sum
(in Rs.) and the time (in years) respectively?

Options:
1. « 2000,50

2 % 30005

3 % 2000.5



4. = 3000, 50

Question Number : 106 Question Id : 5861801100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v fAfeos ufdr v AffaT @70 T 8% Fr ¥ s 2T & T92 10000 g =y &, 3w o8 ofr
SaeT &7 HHT H 2% T arf¥es saref a7 ¥ T94 4000 g S ¥ A iRy (39w &) v waEw (3§t @)
& TN & AT IaT FL7

Options:

1. » 2000, 50

2« 3000, 5

3 % 2000, 5

A % 3000, 50

Question Number : 107 Question Id : 5861801101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The simple interest for a sum of Rs. 6200 for 4 years is Rs. 80 more than the simple interest for Rs. 5800 for the same
duration, the interest rate being same in both cases. What is the rate of interest?

Options:
1. = 10%

7 w% 8%

3. % 12%

4 & 5%



Question Number : 107 Question Id : 5861801101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAT 6200 9T 4 I T FYOT =A<, T9Y 5800 T A & THT & TTUNUT =0T & F94 80 3HfoeF §,
e I & S ArEEr § =T & AT &y off| =TT @X 99T 2

Options:

1 % 10%
7w 8%
3 % 12%
4. v 5%

Question Number : 108 Question Id : 5861801102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money amounts to Rs. 10600 after 4 years and Rs. 14800 after 7 years at the same rate of simple interest.
What is the rate of interest per annum?

Options:
1. = 8%

7 28%

3 % 12%

Question Number : 108 Question Id : 5861801102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v RPa offr v RPag o araror sors 27 9v 4 ast & T 10600 3T 7 ast & w9Fr 14800
& ST g1 af¥es eI g7 94T F?

Options:



1. = 8%

2. v 28%
3. % 12%
4 % 15%

Question Number : 109 Question Id : 5861801103 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Harish borrowed some money on compound interest and returned it in 2 years in equal annual installments. If the rate of
interest is 15% per annum and the annual installment is Rs. 4600, then find the sum borrowed.

Options:
1. v 7478.26

7 % 7748.26
3 x 7874.26
A. % 8478.26

Question Number : 109 Question Id : 5861801103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gler Tgie s W Us AfFaa afy zum o § 3k 2 vt F awew e Geeat & afvw &= o B
afe o ==t 2T 15% ¢ 3t T fea Todr 4600 g, & 3uw o 15 af¥r war +1)

Options:

1. «» 7478.26



2 % 774826

3. 7874.26

4. % 8478.26

Question Number : 110 Question Id : 5861801104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a certain sum at compound interest becomes double in 5 years, in how many years will it be 32 times at the same rate
of interest?

Options:
1. = 16 years

? % 32 years

3 25Yyears

/4. = 36Yyears

Question Number : 110 Question Id : 5861801104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg v fafPag v, awgfy s w5 awl & SeEr & S &, a 99 Y & ag R 56 s
ot faraer st & 32 o g

Options:
1. = 16 el

2. w 32 "



3. » 25 @

4. = 36 @A

Question Number : 111 Question Id : 5861801105 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A right-angled triangle of perimeter 30 cm has been formed such that the lengths of its sides (in cm) are integers prime
to each other. What is its area in sq.cm.?

Options:
1. = 20
7 % 24

3. % 25

4, v 30

Question Number : 111 Question Id : 5861801105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 cm F GRATT I T FHASIUT S #1 56 G0 § 37 717 § 6 sHHr =it v @18 (cm H)
TeH-gHY F UM THE & G g1 SHHT sq.cm. H &THS TaT 7

Options:
1. = 20
7w 24



4. v 30

Question Number : 112 Question Id : 5861801106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A circle is inscribed in a square. What is the ratio of the area of the circle to that of the portion of the square not covered
by the circle?

Options:

1. =

=

.

2. ® m-2

3.¢ 4

Question Number : 112 Question 1d : 5861801106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF T H TF e I AT E| Ied F Ao AR Fed I T F FA Ag 0 v {Ey #7 s
9T |

Options:

1. =

L=



Question Number : 113 Question Id : 5861801107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The area of a circle is increased by 352 sq.cm. when its radius is increased by 8 em. Find the original radius of the
circle.
Options:

1 %= 6cm
? & 3cm
3 % 4cm

4 % 8cm

Question Number : 113 Question 1d : 5861801107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U Jed FT STE 352 sq.cm T AT g1 T $Hb! [F=AT 8 cm T AT gl e BT HS AT I
Eoxdl

Options:

1. = 6 cm

7 ¢ 3cm

3 % 4cm

4 = 8 cm



Question Number : 114 Question Id : 5861801108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P and Q can finish a piece of work in 60 days; Q and R can finish the same work in 48 days; whereas R and P can finish
the same work in 40 days. They all work together for 20 days. Then Q and R leave. How many more days will P take to
finish the work?

Options:
1. «» 36days

2 % 30days

3 x l5days

4], = 18days

Question Number : 114 Question Id : 5861801108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P 3R Q T #& &1 60 GF & 0 1 & Q 3R R & 7@ & F= 7 48 o a°ra § =% R
3R P & TE FE FE FH 40 R e F1 7 T 20 RE I Ay 17 w4 21 26 91 Q R R
FH OIS 0 g1 TIaT F{ &F P Fr 375 FH TcH =7 7 Fas &F &1 o757 s=em?

Options:

1. » 36 fe=

7w 30 e

3. . 15

4. = 18 fe=

Question Number : 115 Question Id : 5861801109 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Geeta and Mamatha can finish a piece of work in 40 days and 24 days respectively. Geeta started the work alone. After
§ days. Mamatha joined her till the completion of the work. How many days in total were needed to finish the work?



Options:
1. = 12days

2 « 20days

3 x Odays

4. » 24days

Question Number : 115 Question Id : 5861801109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T FAAT TH FH F FAA 40 HRT 24 AT F 7 A 1 Aaw 3wper & FH FET O F AT
gl 8 et & =g, AFYT FA W B TF 38F T FHH FIAT &1 T H{ & HI TeH A H Fol
fraer o= &1 3T wem?

Options:

1.« 12 R

2 o 20 =

3. . 6fw

4.« 24 fm

Question Number : 116 Question Id : 5861801110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man covers 90 km distance in 4.5 hours. How long will he take to cover 140 km at double the previous speed?
Options:

1. = 4.5 hours



? % 3.25 hours

3.« 3.5 hours

4. % 4 hours

Question Number : 116 Question Id : 5861801110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v cafFd 90 km #T gff 4.5 9 # T FaT g1 I FHAr A vge W SR @S¢ o 9 w F =g
140 km #r ¥ Fas 997 7 99 Hem?

Options:
1. = 45 @
2 % 325@¢
3. ¢ 35
A, = 49

Question Number : 117 Question Id : 5861801111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rahul covers a certain distance on motorcycle. Had he moved 8 kmph faster, he would have taken 40 min less to cover
the distance. If he had moved 4 kmph slower, he would have taken 40 min more to cover the distance. The distance (in
km) is:

Options:
1. = 30

? % 40



3 % 42

4« 32

Question Number : 117 Question Id : 5861801111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TgeT HIETHFHS T Tk AR g FF Har g1 T 98 8 kmph 3170 & & Sar & & 58 g0 7
A H 40 Bt & &7 FHF a1 g1 I g 4 kmph fF F 1 & A 9 g qT = F 40 Fee
F HOF TAT o g1 gl (km FH) T H

Options:

1. = 30
7 = 40
3w 42
4, v 32

Question Number : 118 Question Id : 5861801112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X is twice as fast as Y and Y is thrice as fast as Z. The journey covered by Z in 224 min will be covered by X in how
many minutes?

Options:

1 v 3?5 min

7 353E min



3 33El min

1 « 38? min

Question Number : 118 Question Id : 5861801112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X, Y A g AR Y, Z & &= 771 a7 81 Z v e gf 224 fme & qff #ar ¢, v Y
for X 78 g foraer 7T & 9@ FEm?
Options:

1 v 3?§ min
2 . 35? min
3w 33§ min

4w 38% min

Question Number : 119 Question Id : 5861801113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following table shows the number of new employees added to different categories of employees in an organisation
and also the number of emplovees from these categories who left the organisation every year since the foundation of the
organisation in 2005.

. Telephone Computer
Managers Technical persons Attenders
Operators Operators
Year New Left New Left MNew Left New Left New Left
2005 380 : 600 > 440 c 580 5 410 c
2006 140 60 136 60 128 52 100 50 92 48
2007 90 46 120 64 120 60 112 32 76 44
2008 72 44 118 48 104 50 124 48 98 40
2009 80 36 128 30 96 36 136 44 112 60
2010 97 48 144 56 124 72 130 46 100 52

What is the average of the total number of employees of all categories in the year 20077
Options:
1. = 587

7 % 587.6

Question Number : 119 Question Id : 5861801113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & 15 arforer 2005 #F TofE g wea # Rfeew @ # 7 ¥ onfAer go Av wdwia
#r F=w A F1F o aT FARE fr g1 ol §

LG RETIC AT r ERIBI HAANT | HTFE AT gfi=R

g ar | siEaw av @EAT | AU |(wgIaw| Av |[wsav| Av [ wiEaw
2005 380 - 600 - 440 - 580 - 410 -
2006 140 a0 136 60 128 52 100 50 92 48
2007 90 46 120 b4 120 60 112 52 76 44
2008 72 44 118 48 104 50 124 48 98 40
2009 80 36 128 50 96 56 136 44 112 60
2010 97 48 144 i 124 72 130 46 100 52

a§ 2007 H |t F90 H FA T @ Fol FHAANDT HT TET FT 82

Options:



1. « 587

2« 5876
3 % 597
4. « 5976

Question Number : 120 Question Id : 5861801114 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The following table shows the number of new employees added to different categories of employees in an organisation
and also the number of employees from these categories who left the organisation every year since the foundation of the
organisation in 2005.

. Telephone Computer
Managers Technical persons Attenders
Operators Operators
Year New Left New Left New Left New Left New Left
2005 380 - 600 - 440 - 580 - 410 -
2006 140 60 136 60 128 52 100 50 92 48
2007 90 45 120 64 120 60 112 52 76 —
2008 72 44 118 48 104 50 124 43 98 40
2009 B0 36 128 50 96 56 136 44 112 60
2010 97 48 144 56 124 72 130 46 100 52

Find the total number of computer operators working in the year 2009.

Options:
1. v 858

7 % 1246

3. % 850

A % 900



Question Number : 120 Question Id : 5861801114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o arferT v& W & FA=iar fr Jffes AT & 2 A saeiar f gew i3k sur
HOITET TS & TATaT a8 2005 T &7 ATl 37 A0 # @ T SIS alel FH=MET T §E&aT
sfr g 21

Yaed TahatTehT T ERIEIT ANl | IR Hiuvey gi=R

ag av | @sae au BIs 0 ar |[@Eaw| av |[SEav| au [ Ssae
2005 380 - 600 - 440 - 580 - 410 -
2006 140 60 136 60 128 52 100 50 92 a8
2007 30 46 120 64 120 60 112 52 76 24
2008 72 44 118 48 104 50 124 43 98 40
2009 80 36 128 50 96 56 136 44 112 60
2010 97 a8 144 56 124 72 130 46 100 52

T 2009 H FH FT WE FoT HOUET AW hT AT I HY

Options:
1. «+ 858
2w 1246
3 % 850
A % 900
General English1
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Group Id: 58618048
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Question Number : 121 Question Id : 5861801115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

Scientists, however argued there was no evidence to back the
of the creature.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. protect
2. perfect
3. project
4. prefect

Question Number : 121 Question Id : 5861801115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate word.

Scientists, however argued there was no evidence to back

the of the creature.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. protect
2. perfect
3. project
4, prefect

Question Number : 122 Question Id : 5861801116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

According to the Meteorological department this year the city
has already its hottest day in April in 49 years.

Options:

1. * measured
2. » calculated
3. = judged

4. v recorded

Question Number : 122 Question Id : 5861801116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate word.

According to the Meteorological department this year the city

has already its hottest day in Apnl in 49 years.

Options:

1. = measured
2. = calculated
3. ® judged

4. v recorded

Question Number : 123 Question Id : 5861801117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

The executive engineer of the project said that the
submerged portions would be removed in the next 10-12 days.

Options:

1. = constructing
2. = recovering
3. v remaining
4. = building

Question Number : 123 Question Id : 5861801117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate word.

The executive engineer of the project said that the
submerged portions would be removed In the next 10-12

days.

Options:

1. = constructing
2. % recovering
3. ¥ remaining

4. = building

Question Number : 124 Question Id : 5861801118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

When you are a child whose parents’ jobs involve
transfers keeping up with the constant change in
environment can be very difficult.

Options:

1. » immediate
2. % urgent

3. = pccasional
4. v frequent

Question Number : 124 Question Id : 5861801118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate word.

When you are a child whose parents’ jobs involve
transfers keeping up with the constant change In

environment can be very difficult.

Options:

1. = iImmediate
2. % urgent
3. ® occasional

4. v frequent

Question Number : 125 Question Id : 5861801119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct meaning of the idiom given.

Cut no ice

Options:

1. = Feel too cold to do anything

2. » Have a good influence on

3. » Feel sorry for someone

4. v Have no influence or effect on

Question Number : 125 Question Id : 5861801119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct meaning of the idiom given.

Cut no ice

Options:

1. = Feel too cold to do anything



2. » Have a good influence on
3. = Feel sorry for someone

4. v Have no influence or effect on

Question Number : 126 Question Id : 5861801120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

This is the most interesting book that I across.

Options:

1. v have come
2. came

3. ®» comes

4. = had came

Question Number : 126 Question Id : 5861801120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

This I1s the most interesting book that | across.

Options:

1. v have come
2. ® came
3. ¥ comes

4. = had came

Question Number : 127 Question Id : 5861801121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

It doesn’t seem so warm today, ?

Options:

1. = Isn’t it

2. v Does it

3. = Doesn’t it
4. = Did it

Question Number : 127 Question Id : 5861801121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

It doesn’t seem so warm today, ?

Options:

1. = Isn’t it

2. v Does It
3. = Doesn’t It
4. = Did 1t

Question Number : 128 Question Id : 5861801122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Ayurveda claims to provide an integrated approach
treating illnesses.

Options:

1. = with
2. ® 0N



3. = from
4. v to

Question Number : 128 Question Id : 5861801122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Ayurveda claims to provide an integrated approach

treating Iillnesses.

Options:

1. = with
2. % 0n
3. = from

4. v to

Question Number : 129 Question Id : 5861801123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

If it they will have to cancel the open-air programme.

Options:

1. » will rain
2. = rained
3. vrains

4, = rain

Question Number : 129 Question Id : 5861801123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

If 1t they will have to cancel the open-air programme.

Options:

1. = Wil rain
2. * rained
3. ¥ rains

4. = rain

Question Number : 130 Question Id : 5861801124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Kishore and are planning to attend the function at that
college.

Options:

1. v 1

2. = myself
3. = me

4. = my

Question Number : 130 Question Id : 5861801124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Kishore and are planning to attend the function at

that college.

Options:

1. ¢ |



2. » myself
3. ®* me
4, = my

Question Number : 131 Question Id : 5861801125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

has a beautiful dog, a white Labrador.

Options:

1. = One of my friend
2. v One of my friends
3. #» One friend of me
4. = One my friend

Question Number : 131 Question Id : 5861801125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

has a beautiful dog, a white Labrador.

Options:

1. * One of my friend
2. v One of my friends
3. ®» One friend of me

4. = One my friend

Question Number : 132 Question Id : 5861801126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

Professor Das we met at the University 1s brilliant
scholar and a genial human being.

Options:

1. = who
2. » that
3. v whom
4. = whose

Question Number : 132 Question Id : 5861801126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Professor Das we met at the University i1s brilliant

scholar and a genial human being.

Options:

1. = who
2. = that
3. v whom

4. = whose

Question Number : 133 Question Id : 5861801127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

My son proudly announced, “ car is the best model I've
ever driven”

Options:

1. = This my



2. » This our
3. = This his
4. v This

Question Number : 133 Question Id : 5861801127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

My son proudly announced, car Is the best model I’

ve ever driven”

Options:

1. = This my
2. = This our
3. = This his
4. v This

Question Number : 134 Question Id : 5861801128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

How tall Aditya I could hardly recognize him!

Options:

1. = have become
2. v has become

3. = 1s become

4. = was become

Question Number : 134 Question Id : 5861801128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

How tall Aditya | could hardly recognize him!

Options:

1. = Have become
2. v Has become
3. % |s become

4. « Was become

Question Number : 135 Question Id : 5861801129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Satyajit Ray had an enormous influence the motion
film industry in India.

Options:

1.~ on
2. % 1in
3. = with
4. = by

Question Number : 135 Question Id : 5861801129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Satyajit Ray had an enormous influence the motion

film Industry in India.

Options:

1. v On



2. % |n
3. = With
4, = by

Question Number : 136 Question Id : 5861801130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. 1s Rohtang pass, a most delightful and picturesque route
B. dot the mountains

C. where the traditionally Himachali cottages

D. just about an hour from Manali

Options:

1. = CBAD
2. » DBCA
3.v DACB
4.« CABD

Question Number : 136 Question Id : 5861801130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. Is Rohtang pass, a most delightful and picturesque route
B. dot the mountains

C. where the traditionally Himachali cottages

D. just about an hour from Manali

Options:

1. = CBAD

2. = DBCA

3. v DACB

4, = CABD

Question Number : 137 Question Id : 5861801131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. Sahil heard the sound

B. from the market nearby

C. of the latch being opened

D. Notwithstanding the noise and din

Options:

1. » DCBA
2. » ADCB



3.« ACBD
4. v DBAC

Question Number : 137 Question Id : 5861801131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. Sahil heard the sound

B. from the market nearby

C. of the latch being opened

D. Notwithstanding the noise and din

Options:
1. = DCBA
2. = ADCB
3. = ACBD
4. v DBAC

Question Number : 138 Question Id : 5861801132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Gliven below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. Ms Kumar had already been
B. joined the school

C. when the Principal

D. working there for five years.



Options:

1.+ ADCB
2. » CDAB
3. = CBDA
4.« ABCD

Question Number : 138 Question Id : 5861801132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. Ms Kumar had already been
B. joined the school
C. when the Principal

D. working there for five years.

‘Ip. v ADCB
2. = CDAB
3. = CBDA
4. = ABCD

Question Number : 139 Question Id : 5861801133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Gliven below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. During the conference

B. Participants from various

C. More than 90 research papers

D. Central and state universities presented

Options:

1.+ BDCA
2. » BCAD
3. = ACBD
4. = BADC

Question Number : 139 Question Id : 5861801133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. During the conference
B. Participants from various
C. More than 90 research papers

D. Central and state universities presented

Options:

1. v BDCA
2. = BCAD
3. = ACBD



4. = BADC

Question Number : 140 Question Id : 5861801134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. Will make the day more interesting
B. An out-of-town invitation

C. On the family front

D. For a celebration

Options:

1. = ADCB
2.v CBDA
3. = ACBD
4.« CADB

Question Number : 140 Question Id : 5861801134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. Will make the day more interesting
B. An out-of-town Invitation
C. On the family front

D. For a celebration

Options:



1. = ADCB
2. v CBDA
3. = ACBD
4. = CADB
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Question Number : 141 Question 1d : 5861801135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the underlined word.

Finally they reached a part of the river which was navigable
and they could row across.

Options:

1. = presentable
2. v negotiable
3. = negligible
4. » malleable

Question Number : 141 Question Id : 5861801135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Finally they reached a part of the river which was navigable

and they could row across.

Options:

1. = presentable
2. v negotiable
3. = negligible
4. = malleable

Question Number : 142 Question Id : 5861801136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Due to corrosion the paint of the machine had come off.

Options:

1. = enchantment




2. = fascination
3. = absorption
4. v decomposition

Question Number : 142 Question Id : 5861801136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Due to corrosion the paint of the machine had come off.

Options:

1. = enchantment

2. = fascination
3. = absorption

4. v decomposition

Question Number : 143 Question Id : 5861801137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The fruits on the mango tree were mellow and ready to eat.

Options:

1. v ripe

2. = colourful
3. *» hanging
4, = rotting

Question Number : 143 Question Id : 5861801137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the underlined word.

The fruits on the mango tree were mellow and ready to eat.

Options:

1. v ripe
2. = colourful
3. = hanging
4, = rotting

Question Number : 144 Question Id : 5861801138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Their benevolent gift made a great difference to the victims of
the tsunami.

Options:

1. = cautious
2. « hardhearted
3. v compassionate

4. = vigilant

Question Number : 144 Question Id : 5861801138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Their benevolent gift made a great difference to the victims

of the tsunami.

Options:

1. = cautious



2. * hardhearted
3. v compassionate
4, = vigilant

Question Number : 145 Question Id : 5861801139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The bamboo tree is buoyant because of its hollowness.

Options:

1. v floating

2. = balanced
3. » stable
4. = continuous

Question Number : 145 Question Id : 5861801139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The bamboo tree Is buoyant because of its hollowness.

Options:

1. v floating
2. % balanced
3. = stable

4. = continuous

Question Number : 146 Question Id : 5861801140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate antonym of the underlined word.

Her actions reveal that she is still nimble and alert in her
responses.

Options:

1. = agile
2. = deft

3. v tardy
4, x swift

Question Number : 146 Question Id : 5861801140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Her actions reveal that she is still nimble and alert in her

responses.

Options:

1. = agile
2. = deft
3. v tardy
4. = swift

Question Number : 147 Question Id : 5861801141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Glving a laconic she left the room in a hurry.

Options:

1. = informal



2. » offhand
3. = brief
4. v longwinded

Question Number : 147 Question Id : 5861801141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Giving a laconic she left the room In a hurry.

Options:

1. = Informal

2. = offhand

3. % brief

4. v longwinded

Question Number : 148 Question Id : 5861801142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

His father advised him to be prudent and consult his lawyer
before making the purchase.

Options:

1. = sensible

2. % cautious
3. v reckless
4. = practical

Question Number : 148 Question Id : 5861801142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate antonym of the underlined word.

His father advised him to be prudent and consult his lawyer

before making the purchase.

Options:

1. = sensible
2. % cautious
3. ¢ reckless

4. = practical

Question Number : 149 Question Id : 5861801143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

The teacher was pleased with the consistency with which he
was working.

Options:

1. v variation

2. = uniformity
3. » reliability
4. = constancy

Question Number : 149 Question Id : 5861801143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

The teacher was pleased with the consistency with which

he was working.

Options:



1. v variation
2. = uniformity
3. = reliability
4. % constancy

Question Number : 150 Question Id : 5861801144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

In recognition of his valour the soldier was nominated for an
award.

Options:

1. v cowardice
2. = bravery
3. » variety

4. = diversity

Question Number : 150 Question Id : 5861801144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

In recognition of his valour the soldier was nominated for an

award.

Options:

1. v cowardice
2. » bravery

3. = variety
4

. % diversity
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